
CS 378 Lecture 7 : Word Embeddings
[add pronouns to Zoom]
Announcements
-

- AZ out
- Readings updated (bolding)
- Mid - semester survey
- Download AZ code for this lecture

Today
Ito to word embeddings
- Explore embeddings
- Skip -gram : model f-training
- Revisit DANS
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Distributional Hypothesis
-

JR Firth 1957 :

"

you
shall know a

word by the company
it keeps

"

I watched the movie

TheFneheThe movie inspired me

movie and film can show up in

similar contexts

Are movie +film always substitutable ?

polysemy : one word has multiple senses

Nikolov 2013 : word Zvec

Learn wordy + context reefers for- each word

Attempt to predict t given want



Embedding properties-

simcgood , bad ) XO - 8

Skjfgram

Input : corpus of sentences
Output : Jw , Ew for each word

w in the vocab

( what people use : Tw OR Ew
OR Tweten )

Hyper parameters : dimension d

window size K

let k=I form (word,

The film inspired
context pairs )
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look k wards in
each (film , inspired )

direction
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Training Take our corpus
Get (x, y) pairs

word context

Maximize §y, log Pl context
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Maximizing likelihood is
"

impossible
"

!

( saw, I ) can 't assign prob 1- to
( saw, you ) each

Skip -gram is slow

for each example : O( IVI - d )
multiplies


